
 

  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

Third Year 

Accounting and Finance 

ACCOUNTING FOR MANAGERIAL DECISIONS 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is Management Accounting? 

 ÷©»õsø©U PnUQ¯À GßÓõÀ GßÚ? 

2. Write a note on Ratio Analysis. 

 ÂQu £S¨£õ´Ä SÔzx SÔ¨¦ ÁøµP. 

3. Differentiate between Fixed expenses and 

Variable expenses.  

 {ø»a ö\»ÄPÐUS® ©õÖ£k® ö\»ÂÚ[PÐUPõÚ 
Âzv¯õ\[PøÍz u¸P. 
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4. From the following particulars of S Ltd. Calculate 

Gross Profit Ratio. 

Particulars  2009 

 Rs. 

Sales 1,00,000 

Sales returns 20,000 

Cost of sales  50,000 

 S {Ö©zvß RÌPõq® ÂÁµ[PÎ¼¸¢x ö©õzu »õ£ 
ÂQu® Psk¤iUPÄ®. 

Â£µ® 2009 

 ¹. 

ÂØ£øÚ 1,00,000 

ÂØ£øÚz v¸¨£® 20,000 

ÂØ£øÚ AhUP® 50,000 

5. Find out funds from operations from the details 

given below : 

 Rs. 

Net profit 95,000 

Depreciation on fixed assets  42,000 

Profit on sale of machine 13,000 

Goodwill written off  20,000 



 

 UG–636 3

 RÌUPõq® ÂÁµ[PÎ¼¸¢x öuõÈÀ {v 
E¸ÁõUPzøu PnUQkP. 

 ¹. 

{Pµ »õ£® 95,000 

{ø»a ö\õzxUPÎß ÷u´©õÚ® 42,000 

C¯¢vµzvß ÂØ£øÚ°À »õ£® 13,000 

|Øö£¯º ÷£õUöPÊv¯x 20,000 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is working capital? State its importance. 

 |øh•øÓ •uÀ GßÓõÀ GßÚ? Auß 

•UQ¯zxÁ[PøÍU TÖP. 

7. Explain briefly about Capital Budgeting.    

 ‰»uÚ¨£mi¯À £ØÔ _¸UQ ÂÍUSP. 

8. Calculate : 

 (a) Current Assets 

 (b) Current Liabilities 

 (c) Liquid Assets 

 (d) Closing Stock. 
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 Current Ratio : 2.8 

 Liquid Ratio : 1.5 

 Working capital Rs. 1,62,000. 

 PnUQkP : 

 (A) |øh•øÓa ö\õzxUPÒ   

 (B) |øh•øÓ ö£õÖ¨¦UPÒ 

 (C) }ºø©a ö\õzxUPÒ   

 (D) CÖv \µUQ¸¨¦. 

  |øh•øÓ ÂQu® = 2.8 

  }ºø© ÂQu® = 1.5 

  |øh•øÓ •uÀ = ¹. 1,62,000. 

9. The following are the Balance Sheets of SV Ltd. 

for the years 2008 and 2009. Prepare a funds flow 

statement. 

Balance Sheet 

 31.12.08 31.12.09   31.12.08 31.12.09

 Rs.  Rs.   Rs.  Rs. 

Share capital 8,000 8,500 Land 5,000 5,000

P and L a/c 1,450 2,450 Plant 2,400 3,400

Creditors  900 500 Debtors  1,650 1,950

Loan –  500 Stock 900 700

    Cash at Bank 400 900

 10,350 11,950  10,350 11,950
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 SV {Ö©zvß 2008 ©ØÖ® 2009UPõÚ C¸¨¦ {ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ EÒÍÚ. {v |h©õmh AÔUøP 
u¯õ›UPÄ®. 

C¸¨¦ {ø»U SÔ¨¦ 

 31.12.08 31.12.09   31.12.08  31.12.09 

 ¹.  ¹.   ¹.  ¹. 

£[S ‰»uÚ® 8,000 8,500 {»® 5,000  5,000 

»õ£ |mhU P/S 1,450 2,450 C¯¢vµ® 2,400  3,400 

Phß D¢÷uõº 900 500 PhÚõÎPÒ 1,650  1,950 

Phß –  500 \µUQ¸¨¦ 900  700 

    Á[Q°À öµõUP® 400  900 

 10,350 11,950  10,350  11,950 

10.  Prepare a list of current assets from the following 

details : 

 (a) Current Ratio – 2.5 

 (b) Liquid Ratio – 1.5 

 (c) Working capital Rs. 75,000 

 (d) Bank overdraft Rs. 25,000   

 (e) Cash in hand Rs. 1,000. 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x |øh•øÓ ö\õzxUPÒ  
Ah[Q¯ £mi¯À JßÔøÚz u¯õ›UP. 

 (A) |øh•øÓ ÂQu® – 2.5 

 (B) }ºø© ÂQu® – 1.5 

 (C) |øh•øÓ •uÀ - – ¹. 75,000 

 (D) Á[Q ÷©À Áøµ¨ £ØÖ ¹. 25,000   

 (E) øP°¸¨¦ öµõUP® ¹. 1,000. 
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11. A company at present operating at 80% capacity 

produces and sells 40000 units. 

 Below are the expenses per unit. 

                                                                          Per unit 

 Rs. 

Direct Material 15 

Direct Labour  10 

Factory overhead (30% fixed) 5 

Office overhead (60% variable)  3 

Selling and distribution expenses (50% fixed)  2 

Selling price  45 

 Prepare a budget at 60% capacity and  

90% capacity. 

 J¸ {Ö©® uØ÷£õx 80% AÍÂÀ, 40000 A»SPøÍ 
EØ£zv ö\´QßÓx. 

 EØ£zv ö\»Ä Kº A»QØS ¤ßÁ¸©õÖ 

 ¹. 

÷|µi ‰»¨ö£õ¸mPÒ 15 

÷|µi EøÇ¨¦U T¼ 10 

Bø» ÷©Øö\»Ä (30% {ø»zußø©) 5 

A¾Á»P ÷©Øö\»Ä (60% ©õÖ®ußø©)  3 

ÂØ£øÚ £QºÄa ö\»ÄPÒ (50% {ø»zußø©)  2 

ÂØ£øÚ Âø» 45 

 60% ©ØÖ® 90% EØ£zv {ø»US vmh¨£mi¯À 
u¯õ›UPÄ®.  
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12. Write short notes on : 

 (a) Trend analysis 

 (b) Profitability ratios 

 (c) Net present value. 

 ]Ö SÔ¨¦ ÁøµP : 

 (A) ÷£õUS £S¨£õ´Ä 

 (B) »õ£ ÂQu[PÒ 

 (C) uØPõ» {Pµ ©v¨¦. 

——––––––––– 


